
Opérations avec deux fractions mixtes (E)

Nom: Date: Note:

Calculez chaque résultat.

1. 537 − 112 =

2. 119 ÷ 512 =

3. 112 × 512 =

4. 545 − 512 =

5. 529 + 2 710 =

6. 578 ÷ 513 =

7. 512 × 118 =

8. 413 ÷ 512 =

9. 529 + 2 516 =

10. 537 + 313 =
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Opérations avec deux fractions mixtes (E) Réponses

Nom: Date: Note:

Calculez chaque résultat.

1. 537 − 112 = 38
7 − 3

2 = 76
14 −

21
14 = 55

14 = 31314

2. 119 ÷ 512 = 10
9 ÷ 11

2 = 10
9 × 2

11 = 20
99

3. 112 × 512 = 3
2 ×

11
2 = 33

4 = 814

4. 545 − 512 = 29
5 − 11

2 = 58
10 −

55
10 = 3

10

5. 529 + 2 710 = 47
9 + 27

10 = 470
90 + 243

90 = 713
90 = 78390

6. 578 ÷ 513 = 47
8 ÷ 16

3 = 47
8 × 3

16 = 141
128 = 1 13128

7. 512 × 118 = 11
2 × 9

8 = 99
16 = 6 316

8. 413 ÷ 512 = 13
3 ÷ 11

2 = 13
3 × 2

11 = 26
33

9. 529 + 2 516 = 47
9 + 37

16 = 752
144 +

333
144 = 1085

144 = 7 77144

10. 537 + 313 = 38
7 + 10

3 = 114
21 + 70

21 = 184
21 = 81621
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